Autumn Test 1

1| 1X0= 2 =1-0.2

3| 143+1= 4 | 1200 X 5=

S| 8= 6 | 206 X 1=

o %Jr_l)—: 10| 51 X 1000 =

11| 30= X5 12 =73X10

13 | 3900 + =39 149 | 7 =56 +

U U

15| 284 +10= 16 | 603 — 247 =

J U
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Autumn Test 1 (continued)

7152
17| 2175209 18| .
342
19 4 5396 20 >< 21 (2 marks)

U 0

21 + 4293 = 7142 22| 6258 =7 X

U U

23 ~9=235 294 | 638+9+72364=

U U

322
25| « 37 emats| | G | 314 =700 —

U 0

27| . 4;2 —_— [Total marks /30)

O

How well did you do? [+ with correct place value | 24
Colour the numbers of the — with zeros 16 | 26
queshons you gOt correct. + or x by 10, 100 or 1000 10121315
Long x 20| 25| 27
Fractions 9
Missing numbers M13(14]121(22]23]26
+ 9 |24
- 2 (16| 21|26
X 114|567 |8 |10(12|18|20]|23]|25]|27
+ 3N [13(14 (1511711922

Arithmetic Practice Tests YEAR 6 © Rising Stars UK Ltd. 2015



